Exemple d’exécution de LLL
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- - 3.97£3 1.00 1.00 1.00
63 14 27 2
1.0
0O 1 0 0
0.222  1.00
O 0 1 0
0.429 0.00 1.00
0O 0 0 1
- - 0.0317 0.00 0.00 1.00

[bo||? = 0.2222 - 3.97E3% + 1.0 < 0.75- 3.97TE3 = § - ||by|%.
by «— bj.




i i 197.0  20.2 1.00 1.00
14 63 27 2
1.0
1 0 0 0
448 1.00
0 0 1 0
.92 0.429 1.00
0 0 0 1
- : 0.142 0.0317 —2.21E —29 1.00
by := by — 4by.
ba|? = 0.48% - 197.0 + 20.2 < 0.75 - 197.0
by < bj.




- - 65.0 61.1 1.00 1.00
714 27 2
1.0
-4 1 0 0
1.45 1.00
0O 0 1 0
291 1.71 1.00
0O 0 0 1
- § 0.215 0.127 —2.52F —29 1.00

by := by — by.
[bs]|? = 0.45% - 65.0 + 61.1 > 0.75 - 65.0.




- - 65.0 61.1 1.00 1.00
7 27 2
1.0
-4 5 0 O
0.446 1.00
0O 1 0
291 1.71 1.00
0O 0 0 1
- i 0.215 0.127 —2.52F —29 1.00

by := by — 2by — 2b;.




- - 65.0 61.1 1.00 1.00
T 7 =1 2
1.0
—4 5 =2 0
. 0.446 1.00
0.01564 —0.286 1.00
0O 0 0 1
- i 0.215 0.127 —=2.52FE —29 1.00

b2 = 0.286% - 61.1 + 1.00 < 0.75 - 61.1 = § - ||b]||.
b3 « bs.




- - 65.0 61.1 1.00 1.00
T 7 =1 2
1.0
—4 5 =2 0
. 0.446 1.00
0.01564 —0.286 1.00
0O 0 0 1
- i 0.215 0.127 —=2.52FE —29 1.00

b2 = 0.286% - 61.1 + 1.00 < 0.75 - 61.1 = § - ||b]||.
b3 « bs.
Kk = 2.
[ba|> =6 < 0.75-65 =4 - ||by||2.
by < bj.




- - 6.00 649 10.2 1.00
1.0

0.167  1.00

—2.83 0.491 1.00

- - —0.333 0.221 0.127 1.00
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[ball* > 6 - by,




_ i 600 649 102 1.00
1 7 72
1.0
9 4 5 0
0.167  1.00
1 0 00
~2.83 0491 1.00
0 0 0 1
: - ~0.333 0.221 0.127 1.00
b2 >0 - [[ba]*.
Kk = 3.
by :=bs + 3 - by.
b2 = 0.4912 - 64.9 + 10.2 < 0.75 - 64.9.
b3 « bs.




_ i 600 649 102 1.00
1 7 72
1.0
9 4 5 0
0.167  1.00
1 0 00
~2.83 0491 1.00
0 0 0 1
: - ~0.333 0.221 0.127 1.00
b2 >0 - [[ba]*.
Kk = 3.
by :=bs + 3 - by.
b2 = 0.4912 - 64.9 + 10.2 < 0.75 - 64.9.
b3 « bs.
Kk = 2.

[bs||* =26 > 0.75 - 6.
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- - 6.00  25.8 25.6 1.00
-1 4 7 2
1.0
-2 -1 —4 0
0.167  1.00
I 3 0 0
0.167 1.23 1.00
0O 0 0 1
- i —0.333 0.323 0.159 1.00

bs := by — b.
b2 = 0.232 - 25.8 + 25.6 > 0.75 - 25.8




- - 6.00 25.8 25.6 1.00
-1 4 3 2
1.0
-2 -1 =3 0
0.167  1.00
I 3 -3 0
0.167 0.232 1.00
0O 0 0 1
- i —0.333 0.323 0.159 1.00

b2 = 0.1592 - 25.6 4+ 1.00 < 0.75 - 25.6. by < by.




- - 6.00 258 1.64 15.6
-1 4 2 3
1.0
-2 -1 0 =3
0.167  1.00
I 3 0 =3
—0.333 0.323 1.00
O 0 1 O
- § 0.00 0.232 2.47 1.00

2 *
b2 < 0.75 - |[b3||2.




- - 6.00 434 981 15.6
-1 2 4 3
1.0
-2 0 =1 =3
—0.333 1.00
I 0 —3
0.167 1.92  1.00
O 1 0 O
- i 0.00 1.38 —=0.564 1.00

[ba|? > 0.75 - [|by ||,




- - 6.00 434 981 15.6
-1 2 4 3
1.0
-2 0 =1 =3
—0.333 1.00
I 0 3 =3
0.167 1.92  1.00
O 1 0 O
- i 0.00 1.38 —=0.564 1.00

Ibaf|2 > 0.75 - [|by 2.
K= 3.
b3 =bs —2-byg — 2 - bj.
2 k ES
b2 > [[b3]2 > 0.75 - [|bj]2.




- - 6.00 4.34 9.81 15.6
-1 2 1 3
1.0
-2 0 1 =3
—0.333 1.00
I 0 2 =3
—0.167 —0.0769  1.00
0O 1 =2 0
- i 0.00 1.38 —0.564 1.00

bs = by + b3y — bs.
3 * *
b2 > |b3)12 > 0.75 - [|b|2
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